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Question Number : 1 Question Id : 70819121994 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A radioactive sample is undergoing o decay. At any time L, its activity is A and another

time t,, the activity is TX What is the average life time for the sample ?

-

Options :
In5
t‘) 1'.1
70819171131. =
In(ty + t;)
70819171132. 2
.tz £

70819171133, In5

70819171134.

Question Number : 1 Question Id : 70819121994 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e sdlieiss wrdlf a -Aomsamdlng. t aarn Crrssla, gar dgwd dlne

A wpmid t, erann GCrrssla, gar dewaden g eremayd 2 arengy. bLndlflulen
7

synefl DL s eremen ?

Options :

L t
70819171131, =
70819171132. 2

70819171133, In5

70819171134.

Question Number : 2 Question Id : 70819121995 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A : For a simple microscope, the angular size of the object equals the angular size
of the image.

Reason R : Magnification is achieved as the small object can be kept much closer to the eye
than 25 cm and hence it subtends a large angle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options:

20819171135. Both A and R are true and R is the correct explanation of A

70819171136, Both A and R are true but R is NOT the correct explanation of A



70819171137 A is true but R is false

70819171138, ‘A 18 falsebut R is true

Question Number : 2 Question Id : 70819121995 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£C1p @rem () snm&er AamHEsOUL (HeTenar. @6 sahm) A - eaneyb wimmam

smewb R aereybd &Ml0EL LU Harars).
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Yibugdler Camam 2 (meu 2eradlpH&E FLL.

Famm R : Sflw Gummlsamend sameaniled @(mHg 25 cm -0 6l d Ga@peunar
Fédled eeauliusrd same semayen Wuflu Casrenhsemen
® (ReUMES (Dl WD eana)ld s&geuddlen epad o (HUELHESD

Camhmedssiiu R ng.
Guhsran b smbhnseilen <iuemiulle, sflurer ellamLeawd Gaibbls[HéseD.
Options :
20819171135, > oo R gdwer #fl Coaib, R, A -ssmen Fflwner eflarédsnm@L.
20819171136, A wpmb R sflumeareney gperme R, A -&&mer gilwimer HaT& S e

20819171137 A sflureng penmed R Seumneng.

70819171138. A seunneng e R sflwnensg.

Question Number : 3 Question Id : 70819121996 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A tuning fork A of unknown frequency produces 5 beats/s with a fork of known frequency
340 Hz. When fork A is filed, the beat frequency decreases to 2 beats/s. What is the frequency
of fork A ?
Options :

70819171139, -2 Hz

70819171140, -8 Hz

70819171141, >4° Hz

70819171142. s

Question Number : 3 Question Id : 70819121996 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

30 Hz sy dlidever g Qensésmeu e Cafhal, @ @sflung i 8litleuam Camamm
@msssmal A, 5 ellbwdsdr/dlamyss omeunsEdng. Qosssma A -@w
21EH1 vpredlwusnd, eflbwd o flfteear 2 edbwasd/ elarmyg ceand Gondlng.

A -ar oifliCleuer eremen ?
Options :

70819171139, 20 Hz

70819171140, 228 Hz

70819171141, 242 Hz

70819171142. s

Question Number : 4 Question Id : 70819121997 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Draw the output signal Y in the given combination of gates.

A : —t
SO 2 3 4 5 ) Ae—] ]
i §
B : Be
0] 1 2 3 4 5 s

Options :

of 1 2 3 4 5 ts)
70819171143.

of] 1 2 3 4 5 t(s
70819171144.

ol 1 2 3 4 5 ts)
70819171145.

of 1 2 3 4 5 s
70819171146.

Question Number : 4 Question Id : 70819121997 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819171143.

70819171144,

70819171145.

70819171146.

Question Number : 5 Question Id : 70819121998 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 ’ A second’s pendulum has a time period of 1 second.
Statement II [t takes precisely one second to move between the two extreme
positions.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

20819171147 Both Statement I and Statement 11 are true

70819171148. Both Statement I and Statement 11 are false

70819171149. Statement | is true but Statement Il is false

70819171150. Statement 1 is [alse but Statement 11 is true

Question Number : 5 Question Id : 70819121998 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

20819171147, =001 1 oML Fapmy 11 Fflwmenenay.

70819171148, DDl I wHmib sampm 11 #flurarene 6.

208191711409. S Mm)| l&lﬂumnr@ <2Leilmel Samm) 11 &lﬂumnr@ DY ED A,



gamm| | sfllumend sidver opemme Smmy 11 sflwrerg.
70819171150, DB § FVILTEIS) SHDDL b Dmi 11 #flureng,

Question Number : 6 Question Id : 70819121999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If°C" and "V’ represent capacity and voltage respectively then what are the dimensions of A
where C/V=A7?

Options:
§—2 31276
70819171151, M "L 1E T
r—3 4 13 7
70819171152, M "L " I°T']

i—2 413 77
70819171153. Lo e

1—1 3 2 7)
70819171154, Lol S F

Question Number : 6 Question Id : 70819121999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
'C ohmn 'V gfwar wopbu BlatsseE Hmar wHmb e er s s

S SHuearaunens GHULLT®; C/V=eefld \ -ar uflwrerd eremar ?

Options :
r—2 312 7T6H
70819171151, M "L 1P T
r—3 413 7T/
70819171152, M "L "I T']

=2 413 77
70819171153. Lo e



[-11-31-2T-7
70819171154, Lol i i 4

Question Number : 7 Question Id : 70819122000 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An aeroplane, with its wings spread 10 m, is {lying at a speed of 180 km/h in a horizontal
direction. The total intensity of earth’s field at that part is 2510 4 Wb/m? and the angle
of dip is 60°. The emf induced between the tips of the plane wings will be

Options :

70819171155, 108.25 mV

62.50 mV
70819171156.

70819171157, 8837 mV

70819171158, > +12° mV

Question Number : 7 Question Id : 70819122000 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HerLsgens Henslled, qm eunmaynidl, 10m @) méens eflfleyeim 180km/h ereimm Ceuss
Ao unsdlng. nuGdlla odea yeldsnhsl yasddar rsss Gedlay
25x1074 Wb/m? gysb. Coaub emieys Caremd 60° <y@h. Sieuaurgiduddn
@nsmssaflar pallsErde @olbw grarLuuBn Waallwss dasuder
(emf) wdlUL -

Options :

70819171155, 108.25 mV

62.50 mV
70819171156.



70819171157, 5837 mV

70819171158, > 1122 mV

Question Number : 8 Question Id : 70819122001 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A cord 1s wound round the circumference of wheel of radius r. The axis of the wheel is
horizontal and the moment of inertia about it is . A weight mg is attached to the cord at the
end. The weight falls from rest. After falling through a distance 'h’, the square of angular
velocity of wheel will be :

Options :

2oh
70819171159. 8!

2
70819171160, |+ mr

- 2mgh
[ + mr®
70819171161.
2mgh
7
70819171162, | T 21

Question Number : 8 Question Id : 70819122001 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-
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Options :

Egh
70819171150.
Ey_h
| 2
70819171160, ' = mr
- 2mgh
I+ mr2
70819171161.
2mgh
2
70819171162, + 1 =mr

Question Number : 9 Question Id : 70819122002 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The trajectory of a projectile in a vertical plane is y=ax— Bx2 where a and B are constants
and x & y are respectively the horizontal and vertical distances of the projectile from the
point of projection. The angle of projection 8 and the maximum height attained H are
respectively given by :

Options :
By
o
tan 1[_%, ey
2p
70819171163.
tan l-rE\, o
et P
70819171164.
2
o
lan lu,, E
70819171165.
-—10:2
tan lt‘l'.,

70819171166. B



Question Number : 9 Question Id : 70819122002 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ QsaGsgs sasdad, em afdurmela urmg y=ax—pa’> @EL. QEE
a wonw B Swer wrdldlaa womw erflutn L yeareflle @mHE. HaLssar
wHmb Cem@sas s wopGu x LHND ¥y AGL. aHCaTamDd § wWHnL
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Options:
Y
oL
tan l[3., 2—
70819171163. P
e © 1B
tan 1{_ s
-_ﬁ/' B
70819171164.
2
o
lan lu,, E
70819171165.
4(12
tan lct, T
70819171166. b

Question Number : 10 Question Id : 70819122003 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two masses A and B, each of mass M are fixed together by a massless spring. A force acts on
the mass Bas shown in figure. If the mass A starts moving away from mass B with acceleration
‘a’, then the acceleration of mass B will be :

«——@—— o000 0—0
F B A

Options:



- MF

70819171167.

F+ Ma
70819171168. M

‘Ma-F

708191711609.

'F — Ma
M

70819171170.

Question Number : 10 Question Id : 70819122003 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gaueurenmb M Blenpujen i A whmib B eremn @m Hlanmaer, e Hlanwnn sb19E
sheflanme @eaemssiuhdns. uLssla srlgweinm, B erarn Blenpuie g eflens
(" Ay - --1 P -\.f. " At 5 # '.H. ; | Ea N ‘I-.l G ‘I-.
Qewauhdng. Aerarn Blann B -ew afl () ‘a’ eremn (p(Héa55 L6 dadlng. erafle,
Hleom B -an (phés wElLL :
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F B A
Options :
- MF
Ma
70819171167.
F 4+ Ma

70819171168. M

‘Ma - F

70819171169.



'F — Ma

M
70819171170.

Question Number : 11 Question Id : 70819122004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I~ :  An electric dipole is placed at the centre of a hollow sphere. The flux
of electric field through the sphere is zero but the electric field is not
zero anywhere in the sphere.

Statement II  :  If R is the radius of a solid metallic sphere and Q be the total charge
on it. The electric field at any point on the spherical surface of radius
r (<R)is zerobut the electric flux passing through this closed spherical
surface of radius r is not zero.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

20819171171. Both Statement | and Statement Il are true

70819171172. Both Statement | and Statement 1l are false

70819171173. Statement [ is true but Statement 1l is false

20819171174. Statement I is false but Statement 1l is true

Question Number : 11 Question Id : 70819122004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

20819171171, gamm| I whmb Famm I sflwrearancy.

70819171172, F-DDI I bomib snmy I sflurearaney <ca.

20819171173, F-DmI 1 sflwnerg) pemd sapm Il sflunerg oida.

gammy | sflwumerns e emmay Sammy I sflwumersy.
70819171174. ol j d == Dol ) o

Question Number : 12 Question Id : 70819122005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A scooter accelerates from rest for time t; at constant rate a; and then retards at constant

i t .
rate a, for ime b and comes to rest. The correct value of t_l will be :
2

Options :
a;
70819171175, 2
ar
aj

70819171176.



dq |i*3.2

]
70819171177.

aq |iﬂ.2

70819171178. 2

Question Number : 12 Question Id : 70819122005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ evanl L @uela @@mbsl ty Crrsdne a, eremp wrpn eissdle whHEsw
oL dng. @gar Yng. wron dissdda a, waele t, Grrssneg adl] phi&sw

SoLbg, gle HawsEs Smbuspg. & -l &flwimen W&LUUITENS) :

Options :

a;

dp
70819171175.

ap

d
70819171176.

.i-.’il | 3.2

d

70819171177.

.Ell | 3.2
70819171178. 2

Question Number : 13 Question Id : 70819122006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The internal energy (U), pressure (P) and volume (V) of an ideal gas are related as U=3PV +4.
The gas is :

Options :

monoatomic only.
70819171179. &

70819171180, diatomic only.

708191711g1, Polyatomic only.

peither monoatomic or diatomic.
70819171182.

Question Number : 13 Question Id : 70819122006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e meablweoyy eumyeller o1& gphHmed (U), 2i(péswb (P) wiomib sariearey (V) 2,8
wen U=3PV+4 aran Ggriy Ganam{ererar. 2ihs eurijeunarg :

Options :

Lo}

ANENM &0 UMy WL (Hb

70819171179,
70819171180, V& aumy L (HiD

70819171181, H® S aumyy Lol

70819171182 RDEND |G DG PTG 6L

Question Number : 14 Question Id : 70819122007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The recoil speed of a hydrogen atom after it emits a photon in going from n=>5 state ton=1
state will be :

Options :
70819171183, 34 m/s
70819171184, +17 m/s
325 m/s
70819171185.
219 m/s
70819171186.

Question Number : 14 Question Id : 70819122007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e Cun_Lraar 2 0lpeaugar epetd, n=5 Hlavaule) @bz, n=1Hlenade dedaid
() EnanL e saeflan Oar HensGeus wdlly D510,
Options:
70819171183, +34 m/$
70819171184, +17 m/s
3.25 m/s
70819171185.
219 m/s
70819171186.

Question Number : 15 Question Id : 70819122008 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The Iength of metallic wire is [ . when tension in it is T " It is Iz when the tension is Tz- The
original length of the wire will be :

Options :
Lo+ Iy
70819171187. 2
Toly + Tyl
T, +T,
70819171188.
Tih — Db
T, - Ty
70819171189.
b7 PR
T, - T
70819171190.

Question Number : 15 Question Id : 70819122008 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o 2Carss snllle 2amr Queas T, cdrar Cung, <igar Harbd 1) ELW0.

@ weilems T, -8 wrmwGung berbd I, <éng. ss09lar oprbu harworeng) :

Options:
L+
70819171187. 2
Toly + Tyl
T, +T,
70819171188.
Tl — Toly
T, - T

708191711809.



Tk =Tl

T, — Ty
70819171190,  °©

Question Number : 16 Question Id : 70819122009 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A particle executes S.H.M., the graph of velocity as a function of displacement is :

Options :

a circle.
70819171191.

a parahnla.
70819171192,

70819171193, an ellipse.

a helix.
70819171194,

Question Number : 16 Question Id : 70819122009 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m saer saflé &flas @uasn (SHM) Contasmarélpg. @Liluuisflaws stibs
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Options :

70819171191, ¥ =1

70819171192, £ Leuehary D

20819171193, @ hareul L



70819171194, ¥ &r(HET GUlg @D

Question Number : 17 Question Id : 70819122010 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The incident ray, reflected ray and the outward drawn normal are denoted by the unit

- = —
vectors @, b and ¢ respectively. Then choose the correct relation for these vectors.

Options :
70819171195, P=2 ¢

RE Y [l
70819171196.

PR Y, i
70819171197.

 aie
70819171198.

Question Number : 17 Question Id : 70819122010 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(a8, adtgrefing &8 womb Geefiynwrs amuiulL Esa&CHTH

. . i . . =3 . - . ' -
o wer wepGu, a, b wHNL ¢ AHu oE Das isarrad @oludLl

L(dlemper erefley, eubesjaEndsnear #flumer Asm_jeus CsibHs(Haseab.

Options :
70819171195, °=2 ¢



70819171196.

70819171197.

70819171198.

\
— | —

b=a-2 S o
.—} e o
b=a+2c
.—3» — =3
b=2a+c

Question Number : 18 Question Id : 70819122011 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find the peak current and resonant frequency of the following circuit (as shown in figure).

Options :

WF

100 mH

() V =30 sin 100t

100 pF

120 ()

2 A and 50 Hz

70819171199.

70819171200.

70819171201

0.2 A and 50 Hz

2 A and 100 Hz

0.2 A and 100 H=z

70819171202.

Question Nu

mber : 18 Question Id

: 70819122011 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
uLgdla smlgweny, 4G Gan(ésiulHarar sodlar 2 &5 WenGarm_Ld wHmID

@ésdliey odlitaean opdluanmns sreams.

—rmm—”—

100 mH 100 uF

() V=30sin 100t

120 Q2

Options :
2 —_
70819171199, 2 4 LML 50 Hz

70819171200, 02 A LoD 30 Hz

70819171201, 2 A wOmb 100 Hz

7 . .
70819171202, 02 A 0D 100 Hz

Question Number : 19 Question Id : 70819122012 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Aninclined plane making an angle of 30° with the horizontal is placed in a uniform horizontal

electric field 200 % as shown in the f igure. A bod}-' of mass 1 kg, and chargo 5 mC is allowed

to slide down from rest at a height of 1 m. If the coefficient of friction is 0.2, find the time
taken by the body to reach the bottom.

Options :

70819171203.

70819171204, 138

70819171205, 92 s

70819171206, 026'S

Question Number : 19 Question Id : 70819122012 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



SlenLssars sl @) mpal 30° Camemsas amnuRSSD e m smigar, 200 % &l enLw

e SeLsgar Waryasdld maussiu®dng. 1kg Hlan womnb 5 mC W L b
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2 2

_—
E=200N/C

Options :

70819171203, 23 8

70819171204, 138

70819171205, *-92s

70819171206, 020'S

Question Number : 20 Question Id : 70819122013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A wire of 1 {2 has a length of 1 m. It is stretched till its length increases by 25%. The
percentage change in resistance to the nearest integer is :

Options :

i)
70819171207. ok

i)
70819171208. R



259%
70819171209, 2>

2.5%
70819171210, 12°2%

Question Number : 20 Question Id : 70819122013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o

(M 1 m fareperer snuler WlergenL 10 oy@w. igear Herd 25% dlaflé@n euany

BULOufdnsy. 0s amdla o drer an eramentla), Weangenl wrmm ssaldlgn
&I D h S (hdhle oIl :_.I+|\:|'_, Tl e, &l & el n & s JENEy

m

I
Options:
70819171207, 7° %
e
70819171208, %
259

70819171209, 2>

7 5
70819171210, 12>

Physics Section B

Section Id : 7081911007
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20



Mark As Answered Required?: Yes

Sub-Section Number : 1
Sub-Section Id : 7081911287
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819122014 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The zener diode has a V,=30 V. The current passing through the diode for the following
circuitis  mA,

4k
AN

'
~]
il

o

o

90 V™5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819122014 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819122015 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

) 5
Time period of a simple pendulum is T. The time taken to comp[r_-tr_- g oscillations starting

. il SO | 3
from mean position is —T. Thevalueofawis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819122015 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@@ sail casdlar mee Cpro T YEo. Uy Hoold g

®b &,
5 | o a
= Seeysear (gL nE e(hSgs6snamL sram 5

D B

T @& eraifled, o -6 AL
[ [

oo

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819122016 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The volume V of a given mass of monoatomic gas changes with temperature T according o

| b

LFE

the relation V = KT"
value of x is

. The workdone when temperature changos h}-‘ 00 K will be xR. The

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819122016 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

w2 | b2

V =K
aryeilear sarseney V, deubudlenaewi (T) durmég wrhpweaL & pg.

eremy Ggmomler Uiy, @ AarGésrul L Hlan 2 der ghean oiem)

Geuvublana 90 K sjeray wrhmwenLwjb Gung Aeiwtu’ L GCauemauiar 2jera,
1R @4lé x -am wéliy __

[R = universal aumy wmladl]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819122017 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two stream of photons, possessing energies equal to twice and ten times the work function
of metal are incident on the metal surface successively. The value of ratio of maximum
velocities of the photoelectrons emitted in the two respective cases is x : y. The value of
ris

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819122017 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 25 Question Id : 70819122018 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the highest frequency modulating a carrier is 5 kHz, then the number of AM broadcast
stations accommodated in a 90 kHz bandwidth are

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819122018 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
@ 274 seeamwuls varGupnb telesnsrar 2 wihs oiditleuar 5kHz eefle,
@ 90 kHz ULenL sadslar SLm@Eb AM uriy blaewhsetlar orarmmtlsms

— HEL.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819122019 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In the reported figure of earth, the value of acceleration due to gravity is same at point
A and C but it is smaller than that of its value at point B (surface of the earth). The value of
OA: AB will be x : y. The value of x is

Earth

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819122019 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Ganpssiu’(Herar yellufen LLsHa, A wpnb C ydrefselled yelllTiy whHés
wdliy sowb, permd =g B udelllla (uelluuriy) oemar wdliemued s
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R=6400 km

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819122020 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

'Q
1 mole of rigid diatomic gas performs a work of — when heat Q is supplied to it. The molar
v ]

i ] ) ) B ]
heat capacity of the gas du ring this transformation is ? The value of x is

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819122020 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
em Gord seams mram amyelnE Q <ete] Geutiub elldsuu@n Gung),

Q . G e s . S
— 2lere] Geuenar Qe flng). @ hHlapeiler Gung), @b eumwjellar Guomamt Geauliu
5 3 & 9. &

ghusdimer wdliiLy % Lamed, x -er ALY &
[R = universal aumyy wmlal]
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819122021 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A point source of light 5, placed at a distance 60 cm infront of the centre of a plane mirror of
width 50 cm, hangs vertically on a wall. A man walks infront of the mirror along a line
parallel to the mirror at a distance 1.2 m from it (see in the figure). The distance between the
extreme points where he can see the image of the light source in the mirroris _____ cm.

S
50 7 e

60 cm

—_— 12
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819122021 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



e, Feunile) CatiEasnssd Agmiysslam 50 cm saipenL Fosar pauller ewowdlen
(paruns, 60 cm srEdle) @ S erarn Letafl aflapan masstiuBdng. 6 g
Wellmbg 1.2 m sMsdla, Bs kébE @aamnuns el BLESD. (ULSmsL
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819122022 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A particle executes 5.H.M. with amplitude ‘a’ and time period ‘T". The displacement of the

T,

particle when its speed is half of maximum speed is *~~. The value of x is
2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 29 Question Id : 70819122022 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819122023 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

27 similar drops of mercury are maintained at 10 V each. All these spherical drops combine
into a single big drop. The potential energy of the bigger dropis ~ times that of a
smaller drop.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819122023 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Camareuy g Len @arm Gume odmer 27 unsres Hefladr, el Gemarmb
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Chemistry Section A

Section Id : 7081911008
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911288
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819122024 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-I1

List-1 List-11
(Molecule) (Bond order)
(a) Ne, @ 1
®b) N, (i) 2
() F, (i) O
(d) O, iv) 3

Choose the correct answer from the options given below :
Options :
70819171221, (@ — (1), (b) — (ii), (c) — (iii), (d) — (iv)

70819171222, @) = (iv), (b) — (iii), (c) — (ii), (d) — (i)
20819171223, (@ — (i), (b) — (i), (c) — (iv), (d) — (iii)

20819171224, (@ — (i), (b) — (iv), (c) — (i), (d) — (ii)

Question Number : 31 Question Id : 70819122024 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Qan@d 1-a 2emaraunan QFn@Sl - 1 oL eir GurHEseyLb.

Can@dl - 1 Qs - 11
(PpevEdai)) (Slewemiy eemmrenflSens )
(a) Ne, @ 1
b) N, (i) 2
(© F (i) 0
(d) O, (iv) 3

§CGp Gar(hésiul(Herar gre|sefle @)mbal gflunen elenL e CaibosHése 0.
Options :
70819171221, (@ —= (1), (b) — (ii), (c) — (iii), (d) — (iv)

70819171222, (@) — (W), (b) — (iii), (c) — (ii), (d) — (i)

70819171223, (@ — (i), (b) = (i), (c) — (iv), (d) — (iii)



20819171224, (@ — (iii), (b) — (iv), (c) — (i), (d) — (i)

Question Number : 32 Question Id : 70819122025 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The nature of charge on resulting colloidal particles when Fe{:’[3 is added to excess of hot
water 15 :

Options :

70819171225, Posttive

70819171226, nesative

70819171227, neutral

70819171228, sometimes pf}sitivr_- and sometimes nr:-gafivr_-

Question Number : 32 Question Id : 70819122025 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
288 ojeney GLrar Bifld, FeCls -g Caid@n Cung o meumEh & .hLod &) &6rseflen
Cwé 2 drer e &emwuller sarenw :

Options:
70819171225, “BIEED

70819171226, HTEED

70819171227, BOBIOE
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Question Number : 33 Question Id : 70819122026 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of electron gain enthalpy is :
Options :

70819171229, ©>5>5e>Te

70819171230, le>5¢>5>0

70819171231, 2> 0>Se>Te

70819171232, °>5e>Te>0O

Question Number : 33 Question Id : 70819122026 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

erav&Lrmenr by erengsmeollullen sflurear auflens :
Options :

70819171229, ©=>5>5e>Te

70819171230, 1e>5¢>5>0

70819171231, 0~ O >Se>Te

70819171232, > >5e>Te>0O



Question Number : 34 Question Id : 70819122027 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
(a) Siderite iy e
(b) Calamine (i) Ca
(c) Malachite (iii) Fe
(d) Cryolite (iv) Al
v) Zn

Choose the correct answer from the options given below :
Options :
70819171233, (@ — (i), (b) = (ii), (c) = (v), (d) — (i)

70819171234, (@) — (i), (b) = (v}, (¢) — (i), (d) — (iv)

70819171236. (8) — (iii), (b) — (i), (c) — (v), (d) — (ii)

Question Number : 34 Question Id : 70819122027 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Cgn@d) -1- odreraupenn CGNGS - 11 -2 Lan Cummsss.

Csn@s - 1 Qsn@dl - 11
(a) &imenyl (i) Cu
(b) &meven e (i) Ca
() wnwensl (ii) Fe
d) SeypGumemenl_ (iv) Al
(v) Zn

&Gy Gsr(ésiuRerer sreyseiie @mog Fflurer adloLowu CsibblshHésab.
Options :
70819171233, (@ — (i), (b) = (ii), (c) = (v), (d) — (i)



70819171234, (@) — (i), (b) = (v), (¢) — (i), (d) — (iv)

70819171236. (8) — (iii), (b) — (i), (c) — (v), (d) — (ii)

Question Number : 35 Question Id : 70819122028 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following forms of hydrogen emits low energy (3~ particles ?
Options :

70819171237. Proton H*

Protium %H
70819171238.

Deuterium 2H
708191712309. 1

Tritium 3H
70819171240. 1

Question Number : 35 Question Id : 70819122028 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

E-E}ill-_lljggbﬂr Gl afgp&aaefm_ aThs QLU G@Dhs DN LsramL B~ s sarseman

.
I

Qevefludl (Hlammgy ?

Options :

GrmL b t
70819171237, HeTmmer H



70819171238, UMD 4 H

g fluid 2H
70819171239. '~

s 3
70819171240, 4014w 1H

Question Number : 36 Question Id : 70819122029 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L.

List-1 List-11
(a) Sodium Carbonate (i Deacon
(b) Titanium (i) Castmer-Kellner
(c) Chlorine (iii) wvan-Arkel
(d) Sodium hydroxide (iv) Solvay
Choose the correct answer from the options given below :
Options:
70819171241, (@) — (iv), (b) — (iii), (c) — (i), (d) — (ii)
70819171242. (@) — (iv), (b) — (1), (c) — (ii), (d) — (iii)
20819171243, (@) —= (i), (b) — (iii), (c) — (iv), (d) — (ii)

70819171244, (@) — (iii), (b) — (ii), (c) — (i), (d) — (iv)

Question Number : 36 Question Id : 70819122029 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Car@dl -1-d odarang Cgn@S - 11 - 2L 6 Cunmdsayb.
Cgngs) -1 Cgngdl - 11

(a) Gamguid smiyulear () G éasmen

(b) el meflwib (i)  &maiv e - &ed e

() @Carmflen (i) eumanm T&&

(d) Gemgwd epanlrrdens( (v) smbe

£Cy Ganpésiulfarer sreyseliey @mnsl, eflwrer elaamw Csibls@HsseLp.
Options:

70819171241, (@) — (iv), (b) — (iii), (c) — (1), (d) — (ii)

70819171242, @) = (iv), (b) — (i), (¢) — (ii), (d) — (iii)

20819171243, @) = @), (b) = (iid), () = (iv), (d) > (ii)

70819171244, (@) — (iii), (b) — (ii), () — (i), (d) — (iv)

Question Number : 37 Question Id : 70819122030 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which pair of oxides is acidic in nature ?
Options :

70819171245, 2293 5102

70819171246, 0203 €20

N,O, BaO
70819171247.

70819171248, 20, S10;



Question Number : 37 Question Id : 70819122030 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁlr_:péha:e.fm_ eThS @lenewt led 2y EengF(hSer ?
Options :

70819171245, 2203 5102

70819171246, 2203 G20

N-O, BaO
70819171247. =

70819171248, 20, S10;

Question Number : 38 Question Id : 70819122031 Question Type : MCQ Option Shuffling
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : In TlI,, isomorphous to Csl4, the metal is present in +1 oxidation
state.
Reason R ; T1 metal has fourteen f electrons in its electronic configuration.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819171240. Both A and R are correct and R is the correct explanation of A

70819171250. Both A and R are correct but R is NOT the correct explanation of A

70819171251. A is correct but R is not correct

70819171252. A is not correct but R is correct

Yes

:Yes



Question Number : 38 Question Id : 70819122031 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ECp @ram (D sdmiser GamREsCUL (7 éenan. e sambmy A - araneyb wipmerm

sryewd R erareyd @HludLLul (Herens.

gamm A:  Csl; gewiemu gégldaer Tl -0 2 Gamsb +1 gybelloGanin
Hlepaoudleh o dreg.

gmpewib R: Tl 2 Carsh gt aaslgrar yowuld ufarmars
faraslrengenets lanam(Hateng).

Cuonaser, spnseflar syriuemLwd, Spssane sraselld @mbs Waayb

ummgsrarens Gaihos[HéseLb :

Options:

hmib R @irem(hb &F -6m I HeraEd na.
20819171249, A wHmibd R @rer(hn &, R, A -eneu sflwuns aflers@d g

: : TR S - W i £ o Xy Py Gl s i
20819171250, A LHmD R Eye(5ib #jl, gpemmed R, A -eneu sfluns allerssallaana.
20819171251, A -5l pemmed R -seum).

20819171252, A -#eum ered R - &1,

Question Number : 39 Question Id : 70819122032 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calgon is used for water treatment. Which of the following statement is NOT true about
Calgon ?

Options :
20819171253, Calgon contains the 2"d most abundant element by weight in the Earth’s crust.

70819171254. It is poi}-'meric cnmpound and is water soluble.



70819171255. It is also known as Graham’s salt.

2+ ; ) AT
20819171256. It doesnot remove Ca=" ion by precipitation.

Question Number : 39 Question Id : 70819122032 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3y

sramen heny Fas6ME60 LWaTUHE DS, éf.Hgaaamz:n_ smedmen LHOIL sabmsetle
G5 Qe Seumneng) ?
Options :
aENE] A Glom 114& erent 19ay (@i b @ Gdla <l flen L@
sragper, Lell Gohurude aeaLwla @ramnd @Lsdld slsnns daL @b

70819171253. zlﬂ')'bﬂ?”jﬁ';@f]{ﬂ_} ':31tlzll"c;5“51$|hif-b1'g_,

Bflér senqus Faiguwig.

=

Q(F LUl d Crrow,
70819171254, =2 PO e R

L

20819171255 @g Slrsmbd 2 Ly eremeyd %E-E:&&H:I;I_@&:Img_

70819171256, 2 Ca®* gwaflowu dpuranssd fssag Goma.

Question Number : 40 Question Id : 70819122033 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ceric ammonium nitrate and CHCl,/alc. KOH are used for the identification of functional
groups present in and respectively.

Options :

70819171257, alcohol, amine

70819171258, amine, alcohol



70819171259 alcohol, phenol

70819171260 amine, phenol

Question Number : 40 Question Id : 70819122033 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

§flé oCoraflwd eplCrl wHmb CHCl,/ gosannd sabs KOH wpenpGw

D& e _ WmmLb -@ o arer ellenamru(l Qg mEdlsamens
gr ~ I I:-:' |1 \__}fl-'_l-"]

sarlul uweruHEng).
Options :

70819171257, <& anme, ojible
20819171258. 2|LB T, BY,EDS@UDITED

70819171259. 2ol hEll Tl LAaaT Mel

70819171260. yLbl e, LeoTmen

Question Number : 41 Question Id : 70819122034 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 L& ‘4
In CH, =C=CH - CH; molecule, the hybridization of carbon 1, 2, 3 and 4 respectively,

are :
Options :

sp2, sp2, sp2, sp°
70819171261. e i

70819171262, P 7 5P 5P 5



o) J 3
70819171263, F 7 ¥ 57 5

sp2, sps, sp?, sp3
70819171264. e the

Question Number : 41 Question Id : 70819122034 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 2 3 4 o _ )
CHy =C=CH-CHj; erettp Gefugsle, srjuer 1,2, 3 npnb 4 2pdlwerep e

Rengsaiy panGw :
Options :

sp2, sp2, sp?, sp°
70819171261. e i i

3 3 3
70819171262, P 7 5P P+ 5P

o) J 3
70819171263, F 7 ¥ 57 5

sp2, sp°, sp2, sp°
70819171264. Prrerey

Question Number : 42 Question Id : 70819122035 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
2)CrhOy, 773 K
0O 10-20abm

Considering the above reaction, the major product among the following is :

Options:



CH,CH,

Q

70819171265.

COCH,CH;

70819171266.

CE

70819171267.

CH,CH,CH,

O

70819171268.

Question Number : 42 Question Id : 70819122035 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
2)Cry05, 773K
0 10- 20 atm

Copsar_ elmanie HoLsgb Blgdurar damardunmenar &6 Can(H&sL
L A L LW

pl L eveuullellmba CainosHaseb.

Options :
CH,CH,

70819171265.



COCH,CH,

70819171266.
CH,
CHy
70819171267.
CH,CH,CH,
70819171268.

Question Number : 43 Question Id : 70819122036 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identify A in the given reaction.

HO CH,OH
Options :

OH

70819171269, O CHx

70819171270.



Cl1

OH CH,OH

OH

70819171271, ¢ CHpC

Gl CH,(Cl
70819171272. -

Question Number : 43 Question Id : 70819122036 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SpssanL ellenamller SlenLs@Hb A -eneu Seir(hiLliy &&e6yLb.
= -

OH

S0OC]
—— 2, A (W@Hwren eflenar@uim(mer)

HO  CH,OH
Options :

OH

70819171269. Ll el 2



70819171270, ©H CHOH

OH

70819171271, ¢ CHxC
Cl
Cl  CH,Cl

70819171272.

Question Number : 44 Question Id : 70819122037 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idc-ntf_t'}-' A in the given chemical reaction.

CH,CH,CHO —_
O: 2 » A (Major Product)
CH)CHECHD Czl |5C}| 1,1 IE'D

A

l] II ACHO

Options :

70819171273.

70819171274.



} C—H
0
70819171275,
CH 2[_1. H 2(_1{_](:}H
70819171276. CH,CH,CH,0H

Question Number : 44 Question Id : 70819122037 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Spasan alevaruia fenLs@Hn ellanarbummer A -eeu sam(plyGseb.

CHCH,CHO
q = > A (Bgdwrer eflanarGlimmar)

CH,CH,CHO &H50H, HyO
ﬁ

l] lI ~CHO

Options :

70819171273.

O

@
.|_c
XL

70819171274. I I

70819171275.



CH,CH,COOH

70819171276. Ry

Question Number : 45 Question Id : 70819122038 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identﬂ'}f A in the OHD‘WiI‘lg chemical reaction.

SR i) HCHO, NaOH i
ii) CH3CH,Br, NaH, DMF
CH; iii) HI, A
Options:
I
: _C—OCH,CHj;
70819171277, 11O
i LCH,I
70819171278, 11O
: _CH,OH
70819171279, 11O

70819171280.



: _CH,OH

CH;0

Question Number : 45 Question Id : 70819122038 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Epsaam ellenamia Slen @b A -eneu sean(h iy s a6, b,

SEL i) HCHO, NaOH o

ii) CH;CH;Br, NaH, DMF

CH,C i) HI, A
Options :
I

: _C—OCH,CHj;
70819171277, 11O

: _CH,I
70819171278, HO

: _CH,OH
70819171279, 11O

CH,OH

Q

CH,0
70819171280.



Question Number : 46 Question Id : 70819122039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-1I.
List-1 List-11

Cl
Nz *Cl— L
(a) ©/ _ Cull, K (i) Wurlz reaction
Cl
N, TCl~
(b) @'/ Cu, HCI +N, (i) Sandmeyer reaction

(c) 2CH,CH,Cl+2Na __Ether C,H; ~ C,H: +2NaCl(iii) Fittig reaction
(d) 2C.HCl4 ONa _ Ether , CeH:—C,H:+2NaCl  (iv) Gatterman reaction
Choose the correct answer from the options given below :

Options :

70819171281. (@) — (ii), (b) — (iv), (c) — (i), (d) — (i)

20819171282, @ — (i), (b) = (i), (c) — (iv), (d) — (iii)
70819171283, (@) — (iii), (b) — (1), (¢) — (iv), (d) — (ii)
70819171284, (@) —= (iii), (b) — (), (c) — (i), (d) — (ii)

Question Number : 46 Question Id : 70819122039 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Qsn@dl 1 -6 oderaupan CHT@Sl - Il o Ler Aunmiss.

Can@d - 1 Cgngdl - 11
Cl
N, *Cl—
(a) O/ . _ Gl | @ +N, (i) 2flev eflenan
Cl

N, *Cl~ ST IEmE A
(b) U Cu, HCI | +N, (i) esran_Guwi eflenen

C +INa_ P8I . F2NaCl (i) o4 108 ellenen
CH,CH,Cl +2Na_ 8 C,H; - C,H; + 2NaCl A iné of

, 1 ONa_ &I , H: +2Na iv) &r_LiGuer elanar
d) 2C,H.Cl+2Na_ 81 C.H, - CH,+2NaCl 1
£Cyp Garpéslu [Herer srayseiie @mbs. efwner elaiow Caibds@Hasayb.
Options:
0819171281, @ = (@), B) = (¥), © = (), (d) — (i)

70819171282, (@) = (i), (b) —= (i), (¢) —= (iv), (d) — (iii)
70819171283, (@) = (iii), (b) = (i), (c) = (iv), (d) — (ii)

70819171284, (@) = (iii), (b) — (), (¢) — (i), (d) — (ii)

Question Number : 47 Question Id : 70819122040 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Seliwanoff test and Xanthoproteic test are used for the identification of and
respectively.

Options :

70819171285, dldoses, ketoses

70819171286, ketoses, aldoses



70819171287, Ketoses, proteins

proteins, ketoses
70819171288.

Question Number : 47 Question Id : 70819122040 Question Type
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gealleuenm Cangenen wHmb Corbsr yCrm s Cargeman annGw
ML S A Rty
LD M) LD o san(hlgss vweru{éarmer.

Options :
70819171285 <2p,e0 (SL_MEI &eET, FU_CL meuser

70819171286, SLGLITGVSET, 2 oGLT6LSET

70819171287, & CLrmevser, UG leem&en

20819171288, HENMteanger, &G mav e

Question Number : 48 Question Id : 70819122041 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11.

List-1 List-11
(a) Sucrose (i) P-D-Galactose and B-D-Glucose
(b) Lactose (i) «-D-Glucose and p-D-Fructose
(c) Maltose (iif) o-D-Glucose and o-D-Glucose

Choose the correct answer from the options given below :
Options :
70819171289, (@) = (i), (b) — (i), (c) — (iii)

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



70819171290, @ — (i), (b) = (i), (c) — (i)

70819171291. {El] — {]:.], {}J] —3 {f_ii], {C] — {]:.i]

Question Number : 48 Question Id : 70819122041 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Qgr@d) 1-@ o drereupenn Qgn@dl - I o Ler Aumnmsss.

Qgngdl - 1 Cgngdl - 11
(a) &alegmen @ B-D- Caas GLrew wpmib p-D- &@nsisren
(b) en&GLmen (i) o-D- GEnEGanav whnb B-D- UyslGLne
(c) wrallLmrew (i) o-D- GEssGanen wHNL a-D- GEnsbane

B e -~ . - ,-‘.ll » "”‘r . _la' i it Ip\-, Y- - . !
£Cy Qan(asiiu (drer sraysefler @mbsg, sflwner elaLmu CaibEsHésa :

Options :
70819171289, (@) — (i), (b) — (i), (c) — (iii)

70819171290, @ — (i), (b) = (i), (c) — (@)

70819171291. (@) — (i), (b) — (iii), (c) — (ii)

70819171292, (@) = (iii), (b) — (i), (c) — (ii)

Question Number : 49 Question Id : 70819122042 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,4-DNP test can be used to identify :

Options :



70819171293, halogens

70819171294, aldehyde

70819171295, amine

70819171296, Cther

Question Number : 49 Question Id : 70819122042 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2,4-DNP Cangenarmenils (ol & regar (b ilr.:p&a:eim_ 6T & ENETT sewT_Hlwenmb ?

Options:

70819171293~ el
<D}, &0 g &M am (b

70819171294, 2 HVEDD

70819171295. <2 LD &0

70819171296, &M

Question Number : 50 Question Id : 70819122043 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A. Phenyl methanamine

B. N,N-Dimethylaniline

C. N-Methyl aniline

D. Benzenamine

Choose the correct order of basic nature of the above amines.



Options :

70819171297, A>B>C>D

70819171298, D> C>B> A

70819171299, 4> C>B>D

70819171300, P> B>C>A

Question Number : 50 Question Id : 70819122043 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Epssamcunblen smyssenanouden sflwner cuflens
A. Yenerred G ger e

B. NN-anLwsdlea efladlen

C. N-Gwgdler oblem

D. GuenéemenLoe

Options :

70819171297, 4> B>C>D

70819171298, D >C>B> A

70819171299, 4> C>B>D

70819171300, P> B>C>A

Chemistry Section B

Section Id : 7081911009



Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911289
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819122044 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The NaNO, weighed out to make 50 mL of an aqueous solution containing 70.0 mg Na*
permbis - o o g. (Rounded off to the nearest integer)

[Given : Atomic weight in g mol 1. Na:23:N:14:0: 16]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819122044 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
e .6l senpeadled 70.0 mg Nat ywafl Asrem 50 mL NaNO, bissamyse swnflés
e Gw@ssiuL Geuarmgw NaNO; -wen eren g, (eflenL ymdldd 2 arer

wp aamenfled) [Aasm(és L (erers) : Sigm el -gmol ! Na:23;N:14;0:16]
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819122045 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of octahedral voids per lattice site in a latticeis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819122045 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a(h Ligs senfléCamaneuullen peutleun(m Liks sedlaud 2 drer erampdl CleundlLmiseflen
cramerfldens _ (efleni (W cranr&atl ey )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 53 Question Id : 70819122046 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A ball weighing 10 g is moving with a velocity of 90 ms~!. If the uncertainty in its velocity
is 5%, then the uncertainty in its position is %10~ % m. (Rounded off to the
nearest integer)

[Given : h=6.63 10 Js]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819122046 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 g srenLwamar g Ubs 90 ms~! grarp dlewsCauassdlar pamdlatng. <igen

SansGeussslen Hléswwbn semenn lene| 5% crafle), igan Hlenassmen BlaswLLHD
gamenty %10 Bm, (@flenL (WP eremrentl )
[Asrhésiu Hararg : h=663x10"Js]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819122047 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The average S—F bond energy in k] mol L of SFﬁ is . (Rounded off to the nearest
integer)

[Given : The values of standard enthalpy of formation of SF(g), S(g) and F(g) are - 1100, 275
and 80 k] mol ! respectively.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819122047 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

SF, epavdamblan ggrefl S-F Gavenriy pbpad kK mol 1. (eflenL : syméla
2 arer (p amenle) [Canfasiu Rdrarg : SF(g), S(g) whnb F(g) @pdlwuenien

AL 2 meungd eransnald (pepGu - 1100, 275 wHmh 80 kJ mol 1|
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 55 Question Id : 70819122048 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 12.2 g of benzoic acid is dissolved in 100 g of water, the freezing point of solution was
found to be —0.93°C (K¢ (H,0) =1.86 Kkg mol 1Y, The number (n) of benzoic acid molecules
associated (assuming 100% association) is

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819122048 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

12.2 g Quensmis sidlagams 100 g Hile sarsgn Cung, sopsdlar 2 amphlma

0.93°C et s fluiul L g (Ke(H,0)=1.86 K kg mol h), srafleh @avemtgelled 2 airen
GuenGemds ofle wedsmnsalan aamafléms (n)

. (100% (@) enewrgedled

o GTen5TEs &S(hSHeaD.)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819122049 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The pH of ammonium phosphate solution, if pk,d of phosphoric acid and pkb of ammonium
hydroxide are 5.23 and 4.75 respectively, is __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 56 Question Id : 70819122049 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
uraounlés blesslar pk, wHmb bEwalun aman’ Tréamgiger pky, WSS
wernGw 523 womb 475 aafle, Gwraluw urwCul sarsdlar pH wHlly

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819122050 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Emf of the following cell at 298 K in V is x> 10 2,
Zn/Zn?* (0.1 M)||Ag* (0.01 M)|Ag

Thevalueof xis . (Rounded off to the nearest integer)
. o . 2303RT
[Given:E? ..  =—076V;E! , =+080V; ="—— =0.059]
Zn*t/ Zn Ag'/Ag F

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819122050 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



208 K -aflad ggjtlh.ﬂ:f:ifﬂl_ Wlansed e emf x x10 2y.

ZnlZn?* (0.1 M)|Ag* (0.01 M) Ag

x-am wdoy . (eflenl ymled 2 e (PP eTerentlcn)

[A&r(hé&s LUl (heraray :EHZnE*jZn
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

=—076V:E
A

&

r"'llﬁ’,-‘.‘-l

2303RT

=+080V;
S

=0.059]

Question Number : 58 Question Id : 70819122051 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the activation energy of a reaction is 80.9 k| mol ! the fraction of molecules at 700 K,

having onough energy to react to form products is e~ *. The value of x is

(Rounded off to the nearest integer)
[Use R=8.31] K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819122051 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



e deendear Harfeyny spHne 809 K mol ™! aranayd 700 K -9 eflevaryflug

[+]

Caameuwmer gyhmanal unm ellenar Cummerts wIM& s Apasamnsefler oiemey

e”¥ aemeyld GamawmLmed, x -ar wHIY . (eflenr @ ydled 2-dTar (WL
aramenile) [Lweru(dsed R=8.31] K~ 1 mol 7|

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819122052 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In mildly alkaline medium, thiosulphate ion is oxidized by MnOy to “A”. The oxidation
state of sulphur in “A” is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819122052 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

gwrer &ry oo s&$ld, sCLTsFCUl walawu MnOg oid “A” -auns
: b

g sallnGarhmd detwiu@dng. “A” -dild souflar ysallnGarhn Hlame

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819122053 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of stereoisomers possible for [CO{OX]E{BI':I{NH;E:]JZ is

[ox=oxalate]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819122053 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[Co{ox]z{BrJ(NHEJJE SM_(hb puuflore wmhb wEisetlen adamenléens

[ox = 580aL ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001



Mathematics Section A

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 61 Question Id : 70819122054 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the mirror image of the point (1, 3, 5) with respect to the plane 4x -5y +2z=81s (o, B, ¥),

then 5(c+f +v) equals :
Options:

70819171311, 39

70819171312, 41

43
70819171313.

70819171314, *’

Question Number : 61 Question Id : 70819122054 Question Type : MCQ Option Shuffling : Yes

7081911010
5

Online
Mandatory
20

20

80

Yes

1
7081911290

Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dy -5y +2z=8 arenn sensensls Wummsay (1,3,5) eremn ydraflen sementmg. Ebu

(, B, v) erefled 5 (a+ B+y) -6 AL
Options :

70819171311, 39

70819171312, 41

43
70819171313.

70819171314.

Question Number : 62 Question Id : 70819122055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
LetA={1,23 ..,10}and f: A — A be defined as
'{{k]: [k+1 ifkisodd
: | k if k is even
Then the number of possible functions ¢ : A — A such that gof=fis :
Options :

70819171315. S

1{]{:
70819171316. 2

55
70819171317.

70819171318, 10°



Question Number : 62 Question Id : 70819122055 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A={1223, .. 10} bpmwbd f: A — A ereitp &L

[k +1, kameabenm erenr ereiled

(k)

8.7 k @(m @IrL_enL eTei eTafled

eTarmmeUm euenyum&slILREng.

gof =f erempeunm enwb g: A — A ereip iy seflen eramenfléeans

Options :

51
70819171315.

10
70819171316. Cs

55
70819171317.

70819171318, 10°

Question Number : 63 Question Id : 70819122056 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A, be the area of the region bounded by the curves y=sinx, y=cosx and y-axis in the
first quadrant. Also, let A, be the area of the region bounded by the curves y=sinx, y=cosx,

x-axis and ¥ =% in the first quadrant. Then,
Options :

T T s
70819171319. ApiAy=Tl:2and AptAy=1
20819171320, 17 A=l {2 and A; +A,=1

70819171321, 1= 42 and A+ A;=2



g — ; S :
70819171322, 21 =Az and A+ A =1+ 2

Question Number : 63 Question Id : 70819122056 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A, GTEITLIG) Y-21&8, i =SinY, Y =COSX GTENN GUEETEUEN&ET (psa Smaell LU LGS

g@wsEb uGHder LTly. A, adaug x -2éF, I=E,y:smx,y:c05x GTEITD
auenaTeLaN&eT (PH& staal Ll u@Gddd smwéEh uGHlear Lriy erefd

Options :

70819171319, 1~

A iA=1: [ mhmib A +A,=1

70819171320. 2
70819171321, 1= A2 LOMIL Ay A=
20819171322, 2A1=4A2 LD Ay +Ay=14 2

Question Number : 64 Question Id : 70819122057 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fO0<a b<1 and tan la+ tan ! b = , then the value of

4

' S L 3, 43 o
(a +b) [ﬂ Lh]|[a ;b] [ﬂ ;b]|----is:

Options:

70819171323.



70819171324.

>
70819171325, 198e?

i \

e
2

lngF
70819171326. hia

Question Number : 64 Question Id : 70819122057 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1

0<a, b<1whpmbtan 'a+ tan" 1 b = II &T 6ot &,

a”+ b* a’+ b a’+ b : "
(a + b) I b -60T WG
2 . L 4 i

Options :

70819171323.

70819171324.

)
70819171325, 1082

70819171326. e

Question Number : 65 Question Id : 70819122058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Jl.’y2|y

X

. If the curve

Let slope of the tangent line to a curve at any point P(x, y) be given by

intersects the line x + 2y =4 at x= — 2, then the value of y, for which the point (3, y) lies on
the curve, is :

Options :
%
3
70819171327.
18
70819171328. o
18

70819171329, 35

18

11
70819171330.

Question Number : 65 Question Id : 70819122058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
() GUeNeTEUENE S esmaug e Udrafl P(x, y) @Lés awenruiiul L QanRiCar iy en
P -
griey T Y GG, b cuanareueny x+2y=4 erarn CarlenL x=—2 eTenm
:

qrefldler Qaul wamme. (3 . arefl cuanemauanmler Bs @mé&@n @ :
LI @TarTisl e uJ'i:JI_LL.]_'OIJIHUL. .,y GGl L eIMelll U el elTel &b Tl Q_ &.\Ibd‘;@[‘;m \.JI_IH\:]?Q_

y -6 &l
Options :

2

3
70819171327.

18
70819171328. 19

70819171329.



18
35

15

11
70819171330.

Question Number : 66 Question Id : 70819122059 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o0 2 :
The sum of the series 3 200110 4 equal to :
r::l (2n + 1)!
Options :
R S B
70819171331, ©
41 19
—et+ —e ' +10
70819171332. © 8
%5— | %;-e_l 10
70819171333.
a 19

70819171334, 8 8

Question Number : 66 Question Id : 70819122059 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e

,}'- n2 t 6n+ 10

o=8 iy

erettm lelgmflen &l Lev
[

Options :



70819171331.

70819171332, ©

70819171333.

70819171334, 8 8

Question Number : 67 Question Id : 70819122060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

Let f(x)= Iet f()dt + e* be a differentiable function for all x € R. Then f(x) equals :
0

Options :

2e(€¥-1) 1
70819171335.

ale*—1)
70819171336.

70819171337, ©

70819171338. ~

Question Number : 67 Question Id : 70819122060 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



X
! t : i I ; . i P . . L
f(x)= .[O f(tdt + e* greimm grguneng erevem x € R -&@H0 g auans L 55686 SN
0
<@ GUAuws f(x) eeatug
Options :

70819171335. ~

70819171336.
70819171337.

70819171338. ~

Question Number : 68 Question Id : 70819122061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f(a) - af(x)

-
Let f(x) be a differentiable function at x =a with f'(a)=2 and f(a) =4. Then lim = =
i g g r—a [ — &
equals :
Options :

70819171339. ~

70819171340.

.
70819171341, 22 14

a+4
70819171342.



Question Number : 68 Question Id : 70819122061 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f'(@)=2 whn f(@)=4 eeauaraunan Fleney Gelwyb f(x) aeam sy x=a eemm

i

: e g ezt 7 . xf(a)—af(x) .
uerefd gy awmsldlssbsg. 1m B -6 odlULl
] i I—a X d
Options:
'j-.
70819171339, 28 4
49
70819171340, ¥ 2@
5, .
70819171341, 2@ +4
a+4
70819171342.

Question Number : 69 Question Id : 70819122062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 _ .9
x‘=x=2 SREn. :
Let f(x)=sin"! x and §(*) = —5———. If g(2)= lim g(x), then the domain of the
¥ 2x x-6 =2
function fog is :
Options :
3y
% =2 { 5 ]
70819171343. =
i !
= -2 |- 3]
70819171344, .

70819171345.



(-, =2 U[-1, =)
70819171346.

Question Number : 69 Question Id : 70819122062 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2

“-x-2 : :
N " l i . . e cont OB N TR '. y—_ i " 3 i 1fI| '. . f.\rl
X]=S8In X 0mmLwn 3(1) ol ail &k, 2)= IIH‘I X lhlnoﬁ1 &, J0 G'.ulut-l'u) GITIT LA il
flx) mm I PRI 8(2) 1428{ ) fog )
FTIUSLD
Options :
( %0, 2] U\‘ ir :1':\
3
70819171343. =
i ¢ Y
=20 -3 ]
70819171344. W
{0 — A 2 00}
70819171345.
(-, =2 U[-1, )
70819171346.

Question Number : 70 Question Id : 70819122063 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A(1, 4) and B(1, —5) be two points. Let P’ be a point on the circle (x 1)24 (y-1)=1
such that (PA)? + (PB)? have maximum value, then the points, P, A and B lie on

Options :

70819171347, 20 cllipse

70819171348, 2 hyperbola



70819171349, @ parabola

70819171350, @ straight line

Question Number : 70 Question Id : 70819122063 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A(1, 4) wiomd B(1, -5) ereruer @gewr(h yeraflsar. (x—1)2+(y—12=1 arenin el L&dlem
BSgarer P ararp werefl (PA)2+(PB)? ararug SuQu wdieu Qumbuyg

<3| GOLD [héy EITErT & erafléy, P, A HMLD B annbhs cuenarelenT

Options :

G

AGITEU L_L_LD

(1l

70819171347, ¥

B

L

20819171345, SO HAglLaueenuin

70819171349, O Lreu@anuib

e GrrGsn(h

70819171350.

Question Number : 71 Question Id : 70819122064 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— -

If vectors a —xi ,;r" - k and a = i y j. b2k are collinear, then a possible unit vector
parallel to the vector xi 4 y j' -2k is:
Options :

[' M A

i+k

Sl

70819171351.



70819171352.
70819171353, V2

T A
2
70819171354,

Question Number : 71 Question Id : 70819122064 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- e

ay =xi-j+k wdmb ay =i +yj+zk aeruer @@ Carl( dasLjser eefla,

-

xi +yj+zk eenp Cleud(méE @evammunar SjaE HeusbL
Options:
Vg Tos

- \— J+ ki
70819171351, V2

L._ t_: ; | Ir|
V3
70819171352.

70819171353, V2

— i - j
70819171354, V2

Question Number : 72 Question Id : 70819122065 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Let FI{A, BC)=(An~B)v[~CA(AvB)]v~Aand FE(A, B)=(Av B)v(B— ~A)be two
logical expressions. Then :

Options :

70819171355 F, and F, both are tautologies

70819171356. F1 is a tautnlog}-' but F2 is not a tautnlog}-'

70819171357, Fl is not a tautology but F2 is a tautology

Both F, and F, are not tautologies
70819171358. o

Question Number : 72 Question Id : 70819122065 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
F(A,B,C)=(AA~B)v[~CA(AvB)] v~A wpmd Fy(A, B) = (A v B) v (B — ~A) ereirLien
@ran®) s7és eilfleysar. @UELMYE
Options :
F, wpmib F, @rewr(hib Cowinkissr.

70819171355

20819171356, F, eremmugl 6@ Glowind yarmme F, eramuig @ Glnwinineen.

70819171357. Fl LT elTLId) G;-:?::"i_lb (ol LoD LD e ED el Tl FE eTell LI G;-:?::"i_lb (ol LD IDLD .

70819171358 F, womb F, @l rewr(hb G owindl den a.

Question Number : 73 Question Id : 70819122066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A seven digit number is formed using digits 3, 3, 4, 4, 4, 5, 5. The probability, that number

so formed is divisible by 2, is :

Options :

M]lu.

70819171359.

3|

70819171360.

I

70819171361.

*-.]|,4;..'

70819171362.

Question Number : 73 Question Id : 70819122066 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3,3,4,4,4,5,5 arenn erainsener @ossnsents Hanam () @ 7 @oss err o (feaunasL
Uhéng. 2bs 7 @ass a2 -a aEuausbstar Bspsse

Options :

M]lu-

70819171359.

3| o

70819171360.

1

70819171361.

*-.]|,4;..'

70819171362.



Question Number : 74 Question Id : 70819122067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following system of equations :
x+2y—3z=a
2x +6y—11z=Db
x—2y+7z=c,
where a, b and c are real constants. Then the system of equations :
Options :
70819171363, has a unique solution for all a, b and c

1 1 y =7
70819171364. has a unique solution when 5a=2b+c¢

70819171365. has infinite number of solutions when 5a=2b+ ¢

20819171366. has no solution for all a, band ¢

Question Number : 74 Question Id : 70819122067 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a, b, c -~@enar Glwwiwmdlelsarns Gl&meai
x+2y—3z=a
2x +6y—11z=Db

x—=2y+7z=c etantm GrHlW swerurl(hs CsmElulng

~h)
Options :

eradan a, b, ¢ -&@FWD @Gr e FTey HenL&@EHLWD.
70819171363. G0 T G 57| Sl EE

T o @2Cr am &y Hen&@Lb.
20819171364, 22 =2b+ceraud Gurg oGy e Sy S &0

70819171365. 5a=2b+c erenld Cung eramenthm Fieysear &lenL&@ELb.



eTebenr a, b, ¢ -SHERSGHL @ STeysal HenL&Eng).
70819171366. o g (b & g

Question Number : 75 Question Id : 70819122068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The triangle of maximum area that can be inscribed in a given circle of radius r’ is :
Options :

70819171367, AAn isosceles triangle with base equal to 2r.

70819171368 A right angle triangle having two of its sides of length 2r and r.

An equilateral triangle of height 2—:
70819171369. :

An equilateral trianele having each of its side of len th. 3r.
70819171370 3 & 8 gth 31

Question Number : 75 Question Id : 70819122068 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T grpory @@ alLsin@dr aumpuiulL Bubum uglys Cdsmare

(p&GETenTLD

Options :

e e s : :

Sl LIUGSLD 2r 2 enl W @R FLUES (N&EESTERTLD.
70819171367. =+ NG (L

2r nHmID T FeThiGenaT LGSR SaTTES Daraml e GarGarean (n&GEsmemiD.
70819171368. LU (1 (P

i Greilh 2 WD Gl&nanr FuUEs (& renriD.
708191713609.



¥

=]

cacUEeuUmm, LESDD /3 r eTElTmeUmm) 2 aTaT 6(F FOLSS (L& GCSHTenTLD.
o S %, C i W 4

70819171370.

Question Number : 76 Question Id : 70819122069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a line obtained from the intersection of two planes x+2y+z=6 and y+2z=4. If
point P(a, B, v) is the foot of perpendicular from (3, 2, 1) on L, then the value of 21(c + + )
equals :

Options :

68
70819171371.

(51

70819171372, 102

(=1

70819171373, 136

70819171374, 142

Question Number : 76 Question Id : 70819122069 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

X+2y+z=6 whmb y+2z=4 erenn sarhas L erarn Canliged Ceulns Camerdlearmen.
P(o, B, y) eramugy (3,2, 1) erenp yarefllellmbg L -4 ewequiulL Cemesss
Canligen o erafled, 21(a+p+y) -air Ao :

Options :

68
70819171371.

70819171372, 102

70819171373, 136



70819171374, 142

Question Number : 77 Question Id : 70819122070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f: R — R be defined as

' Y

s

X

, fx<-1

R

; 2 sin
] = '4 -
f(x) llax“ +x+H, if-1=x=1
| sin(mx), ix >1
If f{x) is continuous on R, then a + b equals :
Options :

70819171375, 2

70819171376.

70819171377, !

70819171378, °

Question Number : 77 Question Id : 70819122070 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



f:R = Raranp &L

LESin{ —Tw’ x<-1grafle
{
f(x) =1

| sin(x), x> 1erafle

ar? +x rH, ~1<x < 1eaafldd

erampeunn euepunaslufdng. R -ar wal, f(x) @m Csmijeflurer sriy erefla
a+b -ar Wl

Options :
70819171375. 2
70819171376, 1
70819171377, ©
3
70819171378.

Question Number : 78 Question Id : 70819122071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the locus of the mid-point of the line segment from the point (3, 2) to a point on the circle,
x> +y?=11s a circle of radius r, then r is equal to :

Options :
1
70819171379, %
1
70819171380, 3
1
;
70819171381, <
1

70819171382.



Question Number : 78 Question Id : 70819122071 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(3, 2) aremp yarefleowwd x?+y?=1 ararp el L gdlamr Wgemer e Udeflenwiyld

-

Cera@L GCarl(ssammger ewwlyeretdler @wriGeamr T SLrperer e

7
|

UL Glwerflé, r -ar wélliy
Options:
1
70819171379, *
1
70819171380. 3
>
?
70819171381. -
1
70819171382.

Question Number : 79 Question Id : 70819122072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A natural number has prime factorization given by n=2"3%", where y and z are such that

y+z=5and y Lyt o y > z. Then the number of odd divisors of n, including 1, is :

Options :

70819171383.

70819171384. =



70819171385, 12

70819171386, %

Question Number : 79 Question Id : 70819122072 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
n aearn @ué aeanaflar vasr e srrerflluBsse n=2%3V5 eranm

U S VL SR o B i R B ol b=, =1 _ D &
Ger(hésliu’ (Nerarg. @EiE y LONW z eeuear y+z=5 wonw ¥y~ +z = oY >z

aanuarainenn Hlenpa Celidlarmear. n -8 wWGEGDL @DaDULEML eras afl 6

crewenfigans, 1-wbh GCejse

Options :

70819171383.

70819171384. =

70819171385. *~

70819171386, %

Question Number : 80 Question Id : 70819122073 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

] 3 log.t
For x >0, if f(x)= _[ =
1{1 k1)

: s
dt, then f(e) fl — | is equal to :
e )

Options :

70819171387. !



70819171388. .

N =

70819171389.

70819171390. :

Question Number : 80 Question Id : 70819122073 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o T log, t — 1Y . ..
x > 0 ereqid Gumpa, f(x) = If—;ﬁt]dt, erelen, f(e) If1l| -60T LD LIL]
. ls)

1

Options :

70819171387. !

70819171388.

3

;
70819171389. -~

1
70819171390.
Mathematics Section B

SectionId : 7081911011
Section Number: 6
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911291
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819122074 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 1 _m-1
HL, .= Il']]]_l{l 1) dx, form,n = 1,and I— dr=alyy,ac R thena

“ ” {1 |-l,:]]]'l"'l'l

equals

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 81 Question Id : 70819122074 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 s v
1 : xm 1 |l:1 1

i, i el _ [.m=-1 An=1 : o e
m,n = 1 ey I‘D]l—”'\:l,-‘-.b—j- - _[1 (I-x)"  dx, LpmLW A+ 7™ dx=aly y,
0 0

acRaatloawdliy .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819122075 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z be those complex numbers which satisfy

245/ < dand 2(1 +i) +Z(1 —i) > — 10,i = 1.

If the maximum value of |z+1/2 is « A INE, then the value of (a+p) is __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819122075 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
z+5| = 4 wpmd z(1+i)+Z(1-i)= -10,i= J-1 GEmmELT 2 6ten Seliblue z

2} HD. |z4 12 -&m WO oy o+ V2 erefle, (a+p) -ar wHOY .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 83 Question Id : 70819122076 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the normals at all the points on a given curve pass through a fixed point (a, b). If the

curve passes through (3, —3) and (4, E\E], and given that 'a ~2/2b=3 then

{a2 F b2 4 ab)isequal to __ .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819122076 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

arhéslul(Harer @ cuenaTauaé@ eraem Udretlsetlabd euenpuliulL
.

QemGanadr (a, b) eremn yerefl aufiCw Qeddlammen. Sips auamarauenr (3, -3)
LIJ'I_fJ!_r;IJL‘IJl{:l, - 2J2), erémm waraflsen n:urgﬂ'i;;'u_ 'f;]&-atfcugﬂw:ccqm LDHMILD 'ﬂ — 22 b=3, eremmLd
2 drarg ererled, (a2+b?+ab) -ar wHUy
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819122077 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let a be an integer such that all the real roots of the polynomial
2x7 4 5x% + 10x* + 1022 + 10x + 10 lie in the interval (a, a+1).

Then, a | is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819122077 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2x° +5x4 +10x3 + 1062 +10x + 10 arerp LoQMULE Camenenler e G wwo
ApaBIsEnLD (a, a+1) eremn @anQeuafller e ‘@’ eramn (p(Y eTawr 2 aTangy.

SUQunpsy |al -er Oy
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819122078 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
. 8 . "
Lr_-t}(l,)(z, “"Xm be eighteen observations such that l(}(! a) = 36 and l(}(E BJE =90,
i=1 =1
where o and [ are distinct real numbers. If the standard deviation of these observationsis 1,
then the value of | — Bl 15 __

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819122078 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
18

Xy Xy ooy Xpgaranuan uflGari( sawLdl ulejser, ) (X; — ) =36 wHmb
i=1

% 2

Y (X; = B)* =90 eranmeuny 2 drarar. @@ a whmib B eramuer eueGeupmar Gl

Il
flal

eTaimaeT G, @hs srayseflar Sl L ellessn eafld, jo - pf -6 wdlliy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819122079 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10 0 | 100
[fthematrix A=|0 2 0 | satisfies the equation AD 4 gAY FBA=|0 4 0] forsome
30 -1 00 1

real numbers « and B, then —« is equal to __

Response Type : Numeric
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